

17.06.2021.

Mathematics Honors

B. Sc. Part-I

Paper-I

Topic: Summation of Trigonometrical Series.

Q.1 Sum the Series

$$1 - \cos \alpha \cos \beta + \frac{\cos^2 \alpha \cos 2\beta}{12} -$$

$$\frac{\cos^3 \alpha \cos 3\beta}{12} + \dots \text{to } \infty$$

Solⁿ: Let $C = 1 - \cos \alpha \cos \beta +$

$$\frac{\cos^2 \alpha \cos 2\beta}{12} - \frac{\cos^3 \alpha \cos 3\beta}{12} + \dots$$

$$\text{and } S = -\cos \alpha \sin \beta + \frac{\cos^2 \alpha \sin 2\beta}{12}$$

$$- \frac{\cos^3 \alpha \sin 3\beta}{12} + \dots$$

Then $C + iS$

$$= 1 - \cos \alpha \cdot e^{i\beta} + \frac{\cos^2 \alpha e^{i2\beta}}{12} -$$

$$\frac{\cos^3 \alpha e^{i3\beta}}{12} + \dots$$

$$= 1 - x + \frac{x^2}{12} - \frac{x^3}{12} + \dots$$

On putting $\cos \alpha \cdot e^{i\beta} = x$.

$$= e^{-x} = e^{-\cos \alpha \cdot e^{i\beta}}$$

$$\begin{aligned}
 &= e^{-\cos \alpha (\cos \beta + i \sin \beta)} \\
 &= e^{-\cos \alpha \cos \beta - i \cos \alpha \sin \beta} \\
 &= e^{-\cos \alpha \cos \beta} \cdot e^{-i \cos \alpha \sin \beta} \\
 &= e^{-\cos \alpha \cos \beta} \{ \cos(\cos \alpha \sin \beta) \\
 &\quad - i \sin(\cos \alpha \sin \beta) \}
 \end{aligned}$$

Now, equating the real parts,
we get
 $C = e^{-\cos \alpha \cos \beta} \cos(\cos \alpha \sin \beta)$

~~Ex~~ Sum the infinite Series

$$\alpha \sin(\alpha + \beta) + \frac{\alpha^2}{2} \sin(\alpha + 2\beta)$$

$$+ \frac{\alpha^3}{3} \sin(\alpha + 3\beta) + \dots$$

and $\alpha \cos(\alpha + \beta) + \frac{\alpha^2}{2} \cos$

$$(\alpha + 2\beta) + \frac{\alpha^3}{3} \cos(\alpha + 3\beta) + \dots$$

Sol.

We denote the first series by S and the second series by C and multiplying the first series by i , we add it to the second. Thus

$$C + iS = \alpha \{ \cos(\alpha + \beta) + i \sin(\alpha + \beta) \}$$

$$+ \frac{\alpha^2}{2} \{ \cos(\alpha + 2\beta) + i \sin(\alpha + 2\beta) \}$$

$$+ \frac{\alpha^3}{3} \{ \cos(\alpha + 3\beta) + i \sin(\alpha + 3\beta) \} + \dots$$

$$\Rightarrow C + iS = re^{i(\alpha+\beta)} + \frac{r^2}{2} e^{i(2\alpha+\beta)} + \frac{r^3}{6} e^{i(3\alpha+\beta)} + \dots$$

$$= e^{i\alpha} \left\{ re^{i\beta} + \frac{(re^{i\beta})^2}{2} + \frac{(re^{i\beta})^3}{6} + \dots \right\}$$

$$= e^{i\alpha} \left\{ r + \frac{r^2}{2} + \frac{r^3}{6} + \dots \right\}$$

On putting $re^{i\beta} = y$

$$= e^{i\alpha} (e^y - 1) = e^{i\alpha} (e^{re^{i\beta}} - 1)$$

$$= e^{i\alpha} \{ e^{r(\cos\beta + i\sin\beta)} - 1 \}$$

$$= e^{i\alpha} \{ e^{r\cos\beta} \cdot e^{i r \sin\beta} - 1 \}$$

$$= e^{r\cos\beta} \cdot e^{i(r\sin\beta)} - e^{i\alpha}$$

$$= e^{r\cos\beta} \{ \cos(\alpha + r\sin\beta) +$$

$$i \sin(\alpha + r\sin\beta) \} - \{ \cos\alpha + i \sin\alpha \}$$

Now

Equating the real and imaginary parts separately, we get

$$C = e^{r\cos\beta} \cdot \cos(\alpha + r\sin\beta) - \cos\alpha$$

$$S = e^{r\cos\beta} \cdot \sin(\alpha + r\sin\beta) - \sin\alpha$$

Dr. Anil Kumar
 Asst. Prof.
 Dept. of Maths
 D.K. College
 Dumraon